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1. Tick (v') the correct options.

Plantae can make their own food.

a Kingdom Monera Kingdom Animalia
¢ Kingdom Fungi d\/Klngdom Plantae

Most _fungi and bacteria ;.. i, cither soil and dead matter.
a\/fungl and bacteria b plantae

worms d germs

Animalia are multicellular organisms.

a\/multicellular b unicellular
€ bicellular d diverse
Rice, wheat and maize are some examples of ___monocot pjants.

a\/monocot b dicot

C protista d monera

Reptiles gre cqlled crawling animals.

a Amphibians b\/ReptiIes

c Fish d Mammals
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2. Write short answers.

Ans:

Ans:

Ans:

Ans:

Ans:

Ans:

What is classification.
Categorizing organisms into separate groups based on their similarities and differences
is called classification.

Give three characteristics of mammals.
1. Mammals have hair or fur on their bodies.
2. They have lungs to breathe.

3. They give birth to their babies.

Write the classification of the flowering plants.

Flowering plants are classified into two groups on the basis of the number of
cotyledons in their seeds.

1. Monocot plants 2. Dicot plants

Enlist three differences between vertebrates and invertebrates.
Vertebrates

1) All vertebrates have backbone in their body.

2) Most of them have internal skeleton made of bones.

3) They have brain in the skull.
Invertebrates
@ They do not have backbone in their body.

@ They have soft inner bodies which are covered by hard skeleton called exoskeleton.

@ They do not have any advanced brain.

What do you understand by a five kingdom system?
The organisms have been divided into five groups on the basis of similarities and
differences, this is known as five kingdom system.

(1) Kingdom Monera (Bacteria)  (2) Kingdom Protista (Algae)

(3) Kingdom Fungi (4) Kingdom Plantae  (5) Kingdom Animalia
Write detailed answers.

Explain Human's adverse impacts on biodiversity.

Human impacts on Biodiversity

Deforestation

Humans are cutting and clearing the forests for getting agricultural lands, building new
housing colonies and constructing roads and motorways. This action is called

deforestation. In this way, the habitats of variety of wild animals and plants have

been destroyed.
15



Ans:

So, many animals and plants have either become extinct or some are endangered.
Hunting
Hunting on a large scale is a threat to biodiversity. Due to
this, several animals are at the risk of extinction, e.g.,
Marco polo sheep and Black bear.
Pollution
Pollution is anything that makes land and water bodies dirty
and unhealthy for all living creatures.
Describe the classification of vertebrates.
Vertebrates are classified into following five groups:
Fish
Fish live in water. Fish have special body parts called fins which help them to
move in water. They have a streamlined bodies which help them to swim through
the water speedily. The tail fin helps to change the direction and maintain balance.
Their skin is scaly.
Amphibians
Amphibians are the animals that can live on land and also in water. Their skin is usually
moist and slippery. They respire through both their skin and lungs.
Reptiles
Reptiles are crawling animals.
They have dry, rough and thick skin.
Reptiles lay eggs on land.
They breathe through their lungs.
Crocodile, turtle, snake, lizard and tortoise are some examples of reptiles.

Birds
Birds have wings to fly.

All birds have feathers and beaks.

They have hollow bones thus they are light in weight.

They respire through their lungs.

Female birds lay eggs.

Peacock, ostrich, dove, sparrow, seaqull, parrot are examples of birds.
Mammals

Mammals have hair or fur on their bodies.

They have lungs to breathe.

They give birth to their babies.

Horse, cow, sheep, cat, humans, etc. are some examples of mammals.
16



Describe the classification of invertebrates.

Ans: Classification of Invertebrates
Major groups of Invertebrates include:
Sponges
Sponges live in water. Most of them are found in oceans. They are multicellular organisms.
They remain attached to the stones in oceans. They can regenerate the body part, if it is
broken.
Worms
They have mostly a long, tube-like body without legs or arms. The body of some worms is
divided into many segments, for example, tapeworms and earthworms. The bodies of some
worms are not divided in segments, for example roundworms and flatworms.
Insects
The body of insects is segmented. Most insects have two large eyes. The number of legs is
six. The outer covering of the body is called chitin. It is hard and protects the body. The
head, thorax and abdomen are the three main parts of their body. Legs in 3 pairs are
joined to the thorax.
Butterfly, cockroach, grasshopper, housefly, etc. are some examples of insects.
Molluscs

Molluscs have a soft body. They live in ponds, oceans or on land. They move freely or
remain attached to some other organism. The body of some molluscs is without shells (e.g.,
octopus). The body of most molluscs is covered with a shell (e.g., snail).

Oyster, octopus, snail, etc. are examples of molluscs.

Echinoderms

These are found only at the sea-beds. Their body has a spiny covering. Some animals are
star-shaped. The body has central disc from which arms are grown.

Sea anemone, brittle star and starfish are examples of echinoderms.

Write three differences between monocot and dicot plants.

Ans: The differences between monocot and dicot plants.

Monocot plants Dicot plants
® Monocot have one cotyledon inside their ® The dicots have two cotyledon inside
seed. their seed.
® The leaves of monocots have parallel veins. | ® The leaves of dicots have net like viens.
® The number of floral leaves is three or ® The flowers of dicots have four or five,
multiples of three in the flowers of monocots.| or their multiples of floral leaves.

17



Differentiate between extinct and endangered animals. Give examples.
Ans: Extinct animals

The animals that are no more exist on the earth are called extinct animals. For example
tasmania tiger and dinosaur are extinct animals.

Endangered animals

The animals whose number is declining or being reduced day by day and their survival is at
threatened are called endangered animals.
For examples Markhor, Asian Black Bear, Indus River Dolphin

4. State factors causing loss of biodiversity in your locality.

Ans: Students are encouraged to visit their locality, do research and answer the question.

5. Identify the following and write one sentence about each.

It is an Indus River Dolphin found in the Indus River and is an
endangered animal.

It is a Markhor found in the northern mountainous areas of
Pakistan and is an endangered animal.

It is an earthworm and has flat and soft body.

It is a fish that lives in water and has a scaly skin.

18



/u’l‘p&u}

Microorganisms

SRR o RV PRy 1P
&L L i it L £ STE
2ileUns -t A G e PEITL]
Mg End U e s Z L0310
s b U & Uil Gt s o) s heans-J 2L microorganisms
e AR
_wékén:d{c;(ufui/ﬂ)fTuéwfu} e 290 sl ;;g:ugy[ﬁ‘%wlg PR e

@-d///

A IAN
At by S disposable L6l 1 760
Z/g.’él,}

ek (Rt 2l L S ey w2 S5
-Q}wﬁ@é&)ﬁ‘”&féﬁ 2203 ufth/@“ﬂfv@&& .,Q/“ 2L h{(

Sl inZ uﬁé.&f,ﬁ.,:f’j;lﬂ;/lxlé’ LI L S26)
-u:/()}')u::f'/é—
bl I LT (P UBAE 2 S  L

specimené,/cib;lﬂ;l‘gt‘/%K/.:MLLenzLﬁ..‘g&g-g[ﬁ,ylﬁ»Ké./‘%lr_uﬁ G,L, I
_‘gb‘ujéﬂif

19




u/ﬂ (EUssle (L rd

-t s/ S 5,.?1,&‘5 Ul (§ a8

VTN
c/;g.»«.ﬁ&uuulg-ujza“.m&ug»uﬁ("Luuutg:_/»u_u:zufsz.ué_tﬁdjt.L}z’.:«;c,
Jo & e KU e iU iUsfe U e e S ;:“wﬁ,»f 23103 g 03
b B9 19 0 Pt By LS Pos b &

.
s nd
) %
i e ]

Lew 2
LU L Ussbons i 5 Qlesns -t sl $P L o
Y PE3Y 4V

e 2 sl K usde Ut u»gmuuilgcuiuw/ééf:
z:!_twﬁJ’J&.luf’;l_(Diarrhoea)Jlﬂ/;lgr’c(T.B)J) o
QI 25 G e S0 e Grusilesiic e

Grolal 25 Ptz S Lol 2Pt L
SoE Szt a2 d, T S alt g

Bl ot S SP S UFT

3¢ 3

dlf’»{.é Lo s PSP Shose 1 S B S B Amplnf f 64

Z_gtfﬁ LU A LUl "/ﬁé?;f;ﬂrmﬁ&/z’f”c{/}zidt‘*ég teé“:uf" - PRI,
FIE A S Strasle & L et 11328 Sty r & Lotsros pos_uit
eI UL et LI O A3 s B B WS A

S8 A o Al i e LI E LihSE A e

20



il

' . .: *&
R, W=

v s iUk

M/ decomposers.s¥ KUt (.5

-wL/LéﬁJ u»u}yw_ 7010\l 2 2N A (Tl rOrganisms<FL /;Emél}"
LS IAIE Ao 2 SR AN et 33 P2 los e At LS U
S-SR P IR

el L1l S sd

e 3 ST I Pl e Al gzl 2E O
G i Bt S L Lo 53 o o (U2

T v - —e bt Bl e o L
/ 1!/ u»LL //u* C I JBFT Loz y st S S (u}wu*dyturf;
i F Sl s
S N i T
(bread)éuulw»cuz eI I S s @/.d?dLbJ_/@’f’;j}"

(cavities) Z/Ur‘uf U5l g Z.%u La‘ﬁ/ufbgm B Y “q._;/_,l]’d{:(
Y, P

u,t,/lgduLm&;uuw lg(fw}
(12t LG T T )2t e K2 i Ul Ut hosts UL 2 &1 208 (f 51
!’/U!’Jk: U~ & o KL/’&: Uk Gl est v Ussd 1o Ussde pathogens « -t 2

4 - 2 Uy ; v p g e~

21



Qe SRt e i LU e S r -t E UL e S s Finfectious
— Tt e ﬁ‘&f%}wi&WL&{up@dFungi 3¢

U e K8 5o s e b e e e B d §e-19COVIDU
s ad-0 e Wl S KUY o 25

A
' [22) &
v g/;e‘f/’uu‘uﬂq/w:&ib,l-uf’?téupmﬁ(u}:ut LLIE

Frusmlugielest
-uj@ngﬁﬁuﬁu;Ul/)lujggupkjd/a)fad?ujai.ﬁud}@/:

e v

QUIJVUIJ-deLL/;LVULJVUWG (}/)119 COVlD‘JJ"

df_» L SRt ol fede AL W o (B b/ WP 3000
GBI PSS g e Pl e (5 () jir e
| 2L,

J&b e f;f?l] 03 Il et (5& o TUE e Lu/.ﬂji‘ufl.t‘ < & GL 0387
b e Sl & et 2 2o VK e S S sl s & lowe

s

Ac.s ‘1" 2L
28 ; ‘ LAt u" l /'Ld 7z YU'YL}’/VLGVJ)IL /Cz_u/;rﬁ;/’
UG er AU U bl it Ji LWL

22



e sl
S 6l il Aot FE e 2 5L iUl Serf U UL
Ly us KJU;@W/J{;’( et Lk /é/fw_,e-waruug
o N T B e A o bl AT P9
i en FrnEiz
Lu{ﬁdzfn‘.‘/ljglj,
Jh.gdlf:‘“ll(o/,-f)JL;/:@J]:B&‘U:ZZJWléjﬁJigLéﬁcLﬂ/llcﬂ/mutU{’Jk}Ja«)?;f
Byl COVlD-19cu”“’e’gf‘Flu ﬁ:u:’fa‘aﬁ.,rKLU:{uL/wﬁf;f
beé’(u”w lgdfufu: &J’p//’y
et e DS LIS Uil §i s #
g’iJWiingredientsG’i "Zl(?l/:"fufur.i/fdf"ku}“zu.?%fmushrooms u&“[fg@’f 1
_wglg«fdl%lﬁl;@%(ﬁldbé,wu/d/ Mushrooms- Ut G/ Lor6wip Ut UsWes -t L
e i B nL 1 P i S
_‘at‘lggt:@)éud/&/;’g-wz_ffguﬁé_t: ?’JWLJJ}; ,L,/f"gtfﬂ 2
09 UAUI-Ut Lstecbn 4 395598 organic wastes aﬂf’ééytmuﬁu//mg&fuf 3
B Sl P fi@ﬁug&)

_‘LL“ndW!uﬁé_&pld/d).;d/V@%»lcheese/:'fu‘afungusu’& Ll ZYeast (4
..ujé’.t:)éﬂ;lulujL/vacﬁ}}/L‘JdiLuﬁ&‘L‘/z‘;g-‘L ﬂl:«f( gﬁ)f/tui' V»’ﬁu(u»g 5

i".

d/ LTL.?)J ;.7 ;«,.?,Jg /}gd‘) cﬁ)/bt’{_/}z,g /.?g
oA b Lo
AN
eIl LEISA ol \ 2ot E S TS | 2 e T

23



SRR ST A ST RN T N8 T WA -
A E e E

Preventing the Infections f.lfocu"i/!@g:gdp’?

w%)dsa»%égé:-d‘ww

P L nb e toiletsil & WA S gt G
PO A et b

-%%Q%L}U{I%LJW!/inénd/j AP AT

COVID-19L0 - ity L Foy snortd g 3
~ue I8 Fosws

MSH e L gnd e b QIR F et (4
G

_u:"’fl/?“duﬂil.é;ﬁmuﬁf‘%l 5

owe L LSSl & LuBaiusy IS Pezmnn) (b
<t IS S

‘ e S\ A L L it G s e byl LTS
Sl

-Gkt E O St Saby 8

I T IV S AN e S F T (9
-t Lﬂﬁﬁut()’(ﬁZLUx'éLﬁ

-y, /Jz'_n.‘l..gf‘uluf St el Infectionu’fuj 10

’ -%LYFace Maskyx (uﬁdurﬁm.pug:uﬁgcuuug) = LRIgILes (1

24



304"

-uguffuéuuu:(g&uﬁégf‘mg /;J:/::u’/’l; &
S wmicroscopes sl & s st Enp Gl émﬁ
_wg_;/():%t rzn;b«/u»l.é&w{.ggéruzm/u-ugu,é_/dz"i I Grdte
PP o T | 25
-2 L Utbodies( L2l Usdleusl sy cui‘&g W
_ujZ_lgé.f:JWlegG}ufuﬁlebun/}!éugfﬁ’mdu
b P B WU A
e trig b () LG L Ha

@ &6 &6 6 & & ¢

1. Tick (v') the correct options.

A microscope s an instrument that makes an enlarged image of a small object.

a magicmirror b scale C\/microscope d vernier calliper

Decomposers play a very important role in cleaning the environment.

a Yeast b Plants C\/Decomposers d None of these
Bacteria help to change milk into curd.

a Virus b  Fungi c\/Bacteria d Salt

Microorganisms decompose the toxic materials in sewage and industrial waste.

a Viruses b Algae ¢ Bacteria d\/Microorganisms

Athlete’s foot disease is caused by fungi

a algae b viruses C\/J‘ungi d all of these
2. Answer these questions.
Define decomposition with examples.

Ans: When a plant, animal or insect dies, it breaks into tiny pieces. These small pieces
become part of the soil. This process is known as decomposition. e.g., fungi and
bacteria that obtain their nutrients from dead plants or animal.
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Ans:

Ans:

Ans:

Ans:

Ans:

Name any five infectious diseases.

Flu, hepatitis, COVID-19, influenza, chickenpox.
Write three benefits of microorganisms in our daily life.

Some fungi called mushrooms are used as ingredients in recipes. They add flavour to
meals. Edible mushrooms are used as food.

Some bacteria are used for making food products. Yogurt is made with the help of
bacteria.

Microorganisms help in the decomposition of dead bodies and organic wastes.
Therefore, they clean the environment by removing dead bodies.

Write one advantage and one disadvantage of decomposers.

The advantages and disadvantages are:

Advantage: The decomposers play a very important role by recycling the organic
matter of the environment.

Disadvantage: Decomposers damage the wood.

State three salient features of viruses.
The three salient features of viruses are:
1. They are very small infectious particles.

2. They need living host to reproduce.
3. They cause diseases in humans, animals and plants.

Enlist three diseases caused by viruses.
1. COVID-19

2. Influenza

3. Hepatitis
What are pathogens? Give examples.

Microorganisms that cause diseases in their hosts are called pathogens. e.g., athlete’s
foot, ringworm and smut.

Enlist the modes of transmission of the infectious diseases.

Transmission of Infectious Diseases

Following are the modes through which infectious diseases spread and get transmitted in
humans.

Through Air

The diseases like flu, COVID-19 and tuberculosis (T.B) are spread through air. When a
patient of these diseases, talks, sneezes or coughs, then, some bacteria and viruses are
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released from his mouth and spread into the air. When healthy persons breathe in this air,
they are badly affected.

Through Water
The pathogens are transmitted in a healthy body through drinking infected water or eating
the food having such water. Thus a healthy person is affected badly. Typhoid and diarrhoea
are such examples.

Through Food
Uncovered food gets infected by bacteria and fungi which breed rapidly. Using such food

quickly causes diseases, like typhoid, diarrhoea and hepatitis.
)
%-pWork it Out

3. In which ways bacteria are useful for us.

Ans: Some bacteria help in making yogurt. Some help in the digestion of food in our
small intestine.
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1. Tick (V') the correct options.

Egg cell called ovules are produced by __°Vary

a stgle b\/ ovary C stigma d anther

When a sown seed gets air, water and suitable temperature, it starts 9éfminating

a reproducing b growing 4 germinating d none
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Embryo gets its food from cotyledons j| it gets its new leaves.

a seed coat bv” cotyledons ¢ dicot plants d grafting

Onionis a _ bulb
a tuber b‘/ bulb ¢ layer d graft

When seed germinates, its radicle forms

a shoots b‘/ roots ¢ flowers d leaves

2. Answer the following questions

What is meant by germination of seeds?

Ans: The process by which a seed gives rise to a new plant is called germination. Air, water
and suitable temperature are the necessary conditions for seed germination.
Name four main parts of a flower.
Ans: The four main parts of flowers are:
1. Ovary 2. Stigma
3. Style 4. Anther

Differentiate between the self-pollination and cross-pollination.

Self-Pollination pollen 9r0in5¢q A pistil of

the same flower
collects pollen.

The transfer of pollen grains from the anther to the stigma

of the same flower or the stigma of another flower on the same
plant, is called self-pollination. It can be seen in sweet pea,
tomato, orchid, cotton, etc.

Cross-Pollination Self-Pollination in a Flower

The transfer of pollen grains from the anther of one flower to the stigma of another flower

of another plant of the same type is known as cross pollination. It takes place through air,
insects, water or through bats also. Cross-pollination can be observed in maize, coconut,
rose and papaya.
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Ans:

Ans:

Ans:

Ans:

%\ pollinator

pollen

pollen
grains — ¥

Male Flower Female Flower
Cross-Pollination
How is asexual reproduction different from sexual reproduction?

In asexual reproduction, flowers do not take part in the process while sexual
reproduction takes place through flowers.

What is a seed coat? State its function.

The seed coat is the outermost covering of the seed. The seed coat has a tiny pore
called micropyle through which water enters the seed. It protects the baby plant or
embryo.

Name the parts of a carpel.

Carpel are divided into three following parts.

Stigma, style and ovary.

How does sexual reproduction take place in the plants?

Flowers reproduce by the process of pollination. The pollen grains are transferred from
the anther of male flowers to the stigma of the female flowers.

Fusion of male and female gametes forms a zygote. A zygote divides many times to
form the embryo. Later, the ovule becomes seed and ovary forms the fruit on ripening.
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Ans:

Ans:

Draw and label the parts of a flower.

stigma_

anther

stamen filament

— pistil

petal

ovule

sepal

thalamus/receptacle

pedicel

Parts of a flower

Name the parts of a seed.

There are the five main parts of a seed.

Seed coat, cotyledons , seed (leaves), radicle and plumule are the main parts of a seed.
What are the different ways of asexual reproduction.

In this type of reproduction, flowers do not take part. But other parts of plants like roots,
stems and leaves produce new plants. Various ways of asexual reproduction in plants are
explained here.

Layering

A method in which a stem is made to produce roots while still attached to the parent plant
is called layering. Layered part develops into new plant after separation from the parent
plant e.g., lychee, lemon and jasmine.

Bulb

Bulb is structurally a short stem with fleshy leaves. Onion bulb consists of thick fleshy
leaves. The short stem can be seen at its base. When the base with roots is cut and buried
in the soil, a new plant develops, e.g., Garlic.

Grafting

Grafting is a method in which a section of a stem with leaf buds is cut. It is then tied to the
cut stem of another rooted plant. The tissues of the rooted plant join with that of the tied
plant to keep it alive and growing. This method is used to make hybrid plants.

Tuber

The potato is an example of tuber. The tuber has eyes. The eyes are the buds. On burying

the pieces of tuber having eyes in the soil, new plants come out.
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Draw and label the diagram of sexual reproduction in plants.

———pollen grain

—— stigma

| style
\

poIIen tube

/7L gamete

embryo

Sexual reproduction in Plant

LN

=¥ Research Work

3. Visit a nearby garden. Identify the flowering plants and make a list.

Ans: Students are encourage to do this research work themselves.
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1.

2,

Ans:

Tick (') the correct options.

Global warming is the result of air pollution

av” air pollution b water pollution ‘¢ land pollution 'd  all of these

water pollution

Typhoid, Jaundice and Dysentery can be caused by

a air pollution b\/ water pollution ‘¢ land pollution 'd all of these

Growth of plants is affected by land pollution

a air pollution b water pollution ¢’ land pollution 'd all of these

The waste which cannot be decomposed by microorganisms is called
non-biodeqgradable \gste.

av’ non-biodegradable b biodegradable
¢ bacteria d none of these

The continuous rise in the temperature of the Earth'’s surface due to the trapping of the
sun’s heat is called __global warming

a air pollution bv’ global warming
C  greenhouse affect d all of them

Increase in number of vehicles hgs harmed the environment.

av’ Increasing number of vehicles b  Growing trees

¢ Throwing garbage in dustbins d Using the CNG

Spilling of oil causes
a airpollution b land pollution ¢ water pollution ‘d  noise pollution
Answer the following questions.

Differentiate between biodegradable and non-biodegradable materials.

Biodegradable Materials
The materials which can be decomposed easily/naturally by microorganisms like bacteria
and fungi are called biodegradable materials. Vegetables, fruits, leaves, animal excreta,

etc., are biodegradable materials.
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Ans:

Ans:

Ans:

Ans:

Ans:

Ans:

Non-Biodegradable Materials

The materials which cannot be decomposed by microorganisms easily in a natural way
are called non-biodegradable materials. Polythene bags, plastic, aluminum cans, glass
items, things made from metals, etc., are all non-biodegradable materials.

Define pollution.

The addition of harmful substances in the environment is called pollution.

Name the main types of pollution.

There are three main types of pollution.
1. Air pollution 2. Water pollution 3. Land pollution

Name three greenhouse gases.

There are three main types of gases are:
1. Carbon dioxide 2. Nitrous oxide 3. Methane

What is global warming?

The continuous rise in temperature of the earth’s surface due to the trapping of the
sun's heat is called global warming.

What is the 4R principle?

The 4R stands for Reduce, Reuse, Recycle and Refuse.

Reduce the amount of waste you produce.

Reuse items instead of throwing them away whenever possible. For example, empty
bottles of jam can be reused to store things in the kitchen.

Recycle used items to make new things. Recycling is the process of making new things
from old ones.

Refuse Do not use the items which cannot be reused, or which are harmful for the
environment.

What is greenhouse?

A greenhouse is a glass house where plants are grown, like tomatoes and tropical

flowers. A green house stays warm inside, even during the winter.
What is the role of ozone layer (0,)?

Ozone (O,) is presented in stratosphere. |t covers the entire planet and protect life
on earth from the harmful ultraviolet radiations.
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o
%DQWork it Out

i Go on a cleanliness drive and take pledge that you will keep your surroundings clean.

Ans: |t is very positive practical activity. Do it with you school fellows.

i |dentify the biodegradable and non-biodegradable materials from the following

pictures.

e

—

non-biodegradable

cup

non-biodegradable

can

=

non-biodegradable

paper

biodegradable
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1. Tick (V') the correct options.

Alan concentrated solution is the one that contains a relatively large amount of solute.

a dilute b\/ concentrated

¢ soluble d insoluble

The substance that dissolves the other substance in it is called _ Solvent

a solute b\/ solvent

¢ solution d soluble

The change of state in which matter changes from a gaseous state into a liquid state on
cooling is called condensation,

a evaporation b  melting

C\/ condensation d freezing
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Water exists in 3 states of matter.

a 2 b\/3

c 4 ®» 5
Which of the following shows the physical change?
av’ Melting of Ice b Burning of fuel
¢ Cooking of food d Digestion of food

2. Answer the following questions.

Ans:

Ans:

What is matter? List its states.

Everything around us is matter. Air we breathe in is matter. The book we read and the
milk we drink is matter. The matter is found in three states such as solid, liquid and gas.
Example includes; sugar, milk and air.

Differentiate between physical and chemical change.

Differences between Physical and Chemical Changes

Physical changes Chemical changes

A physical change is that in which no new | A chemical change is that in which a new

material is formed. material having different properties is formed.
It can be reversed. It cannot be reversed.

Melting of ice and wax are common Burning of fuel and cooking of food

examples of physical changes. are examples of chemical changes.

Ans:

Ans:

Ans:

Differentiate between dilute and concentrated solution with examples.

A concentrated solution, also known as strong solution is one that has more amount
of dissolved solute. Examples; dark colour tea, orange juice. A dilute solution is one
that has small amount of dissolved solute. It is also called weak solution. e.g., Salt
solution, light colour tea.

What is evaporation?

Evaporation is the process by which a liquid turns into gas.

What is sublimation?

When a solid material changes directly into gas without becoming liquid first, the
process is called sublimation.
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| Exercise_
1. Tick (v') the correct options.
The __Sun__is the main source of light and heat on the Earth.
a Moon b\/ Sun ¢ fire d all of them
Light travels in M line.
a reflected b zig zag v’ straight d up and down
Luminous objects are visible as they have light of their own.
a Opaque b Non - Luminous ¢v Luminous d Transparent
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Ans:

Ans:

Ans:

Ans:

Material through which light rays pass partially is called translucent mgterial.

a opaque b transparent C\/ translucent d luminous
Sound waves travel the fastest through gas
av” solid b gas ¢ water d none of them

Answer the following questions
Define reflection of light.

The phenomenon of bouncing back of light rays after striking the surface of an opaque
object is termed as reflection of light.

Differentiate between transparent and opaque objects. Give example.

Transparent materials

The materials which allow light to pass through them quite easily are called

transparent materials.

Glass, clear plastic, water and air are examples of transparent materials.
Opaque materials

The materials which do not allow light to pass through them at all are called opaque
materials. Wood, metal sheets, brick walls and tiles are examples of opaque materials.

State any three characteristics of a shadow.

1. Shadows are formed when light is stopped by an object.
2. When light falls on an opaque object, it does not allow the light to pass through it.
3. Since light travels in a straight line and cannot bend around the opaque object,

a dark region is obtained behind it.

How is a shadow formed?

An object forms shadow:

when an opaque objects is placed in the path of rays of light.

when light falls from the opposite direction.

A shadow is bigger when the source of light is nearer, however, if the source of light is
farther the shadow will be smaller.

State any four harmful effects of noise on human health.

Ans: Noise has following harmful effects on human health.
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1) Cause disturbance in sleep
Disturb during study
Headache and high blood pressure

Upsets nervous and digestive system

gl () (W) (N

Problems in hearing and understanding the conversation of others clearly.

What is a translucent object? Give three examples

Ans: The materials through which light can pass partially but we cannot see through them
clearly are called translucent materials. Frosted glass, butter paper and wax paper are
examples of translucent materials.

Define intensity of sound.

Ans: Intensity of sound is defined as the power carried by the sound waves per unit area
in a direction perpendicular to that area.
Discuss two factors upon which intensity of sound depends.

Ans: Intensity of sounds depend upon the amplitude of the sound, distance from the source
and surface area of vibrating body.

LN

=¥ Research Work

Look around your classroom/house for one object made up of wood, clear glass and black

glass. Shine a flash light on each item, observe and write what happens to light.

Also draw a diagram of what you observe.

Wood: If we shine a flash light beam Frosted Glass: Not of all the light is

through wood, some of the light is reflected as on a clear glass.
absorbed by the wood and some is Clear Glass: Since a clear glass has
reflected back. a very shiny surface, all of the light

beam is reflected.

Note: Students are encouraged to draw diagrams themselves.
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1.

Tick (v') the correct options.
One of the following is not a source of electric current:
a Cell b Battery
¢ Solar panel d\/Open circuit
An electric switch is a device that is used to:
a open an electric circuit only b close an electric circuit only
4 open or close an electric circuit d none of these

One of the following is a conductor:
av” Iron b Plastic
¢ Cloth d Wood

One of the following arrangements causes the bulb glow:

@ | 2N I,

.
0 JS X
s§\ (\__& o

One of the following is a non-magnetic material:

a lron b Cobalt

cv’ Gold d  Nickel
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An electrician uses rubber gloves while working on electricity supply lines in a building.
It is because:

a  Rubber gloves are good conductor of electricity.
b Human body is a non-conductor of electricity.

¢V In the absence of gloves, current can pass through his/her body and cause an
electric shock.
d Gloves protect hands from getting dirty.

A magnet will attract a

a piece of wood b plastic ruler

piece of chalk dv’ safety pin

A freely suspended magnet will always come to rest in the
a east-west direction b\/ north-south direction
¢ south-west direction d north-east direction

Magnets are used in
a ATM machines b  computer monitors
C  generators d\/ all of them

Answer the following questions

Define electric current?
The rate of flow of electrons in a conductor is called electric current.

Differentiate between the following:

a. Temporary and permanent magnet

The temporary magnets retain their magnetic properties only for a short period
of time. On the other hand, the permanent magnets retain their magnetic
properties for longer periods of time. Even if they break into two parts, each part
acts as a magnet, independently.

Open and closed circuit

The electric circuit in which the current flows from one terminal of the cell to the
other terminal is known as a closed circuit. In this arrangement, the electric
circuit provides a closed path for electric current to flow.

The electric circuit in which contact among any of the components of the circuit is

broken is called an open circuit. The bulb does not glow if any one of the wires
86




from the cell is disconnected.

Why are electric wires covered with plastic or rubber?

Ans: Insulators like rubber and plastics are used to cover electric wires, so that naked wires
may not give an electric shock to the user.

Why electricity does not flow in an open circuit?

Ans: The bulb does not glow if any one of the wires from the cell is disconnected.

j{ Bulb does not glow ., Bulb glows
1 A
= 1
| ——————1 |

S PSSR RS

AR B L e el

Open circuit Closed circuit

Distinguish between conductors and insulators? Give three examples of each.

Ans: Conductors and Insulators
© Conductors are the materials that permit electrons or electric current to flow through
them. Steel, copper, gold.
O Insulators are the materials that do not permit electrons or electric current to flow
through them. Rubber, glass, wood.

Why should an electrician use rubber gloves while repairing an electric switch
or some electric appliance at your home?

Ans: As electric switches are good conductors of electricity so if he does not use rubber
gloves which are non-conductors of electricity, he may get an electric shock.

State the uses of magnetic compass.

Ans: A magnetic compass is a simple device used by pilots and navigators to find the
direction in which their aeroplane or ship is moving. By looking at the north pole of
the magnetic needle, we can find our direction at the place.

State the functions of fuse.
Ans: Fuse is an important safety device, used for protecting the circuits from short circuiting
or overloading of the circuit. Whenever over-flow of current occurs in a circuit, the fuse

goes off, thus breaking the supply of current and therefore saving the appliance. It
consists of a thin metal wire that melts abruptly when over heated.
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State any two properties Of magnets.

Ans: Magnets have more magnetic force at the ends as compared to the middle. If you bring
iron filings close to a bar magnet, you will observe that most of the iron filings cling to
the ends of the magnet, whereas, few filings cling to the central part of the magnet.
This indicates that the ends of a magnet possess a stronger force of attraction than the
other parts of the magnet.

The Earth act as a huge bar magnet. Find out more about the magnetic nature
of the Earth and its effects. Prepare a detailed report of your findings.

Earth’s magnetic nature is mostly caused by electric currents in the liquid outer
core, which is made up of iron. The Earth looks like a big magnet with a north
and south pole like any other magnet. The strength of the Earths magnetic
field at the poles is around 0.6 Gauss. The Earth has a pull force of about 19

tons.

>@L Creative Thinking Skill

How are the magnets essential in our daily lives?

Ans: The magnets are essential in our daily lives because almost everything that is run by
electricity has magnet in it.

88



=30 d

Structure of the Earth

- U9,
B N FLICSet-atnt i L oy - A B
bl P29%L Pt e b e QL G T0% )0 (0
-4 ‘ e Surd L di’)ﬁc‘-u?r dg 4 i/d/fg‘- ooy g ““40@‘
=5 =51 Qaxt S
e A o U sl Gait ot
e
/)/&ujl e J?‘)/’Ur"»d - 2 d/& Kui']}/
268 GG ol £ Bz i (F 1P
e 4S5 36000 4 /5563 5000 [ Fetr
o)
U8 (4P 2 e o Sty
Ay 53k bosl § et it 08 S s el F
-‘L/J,':}KSOL
e S s Qv i oSy oo (e F K 2900 o (ng Lo SF
- T e it Pl él';/;‘é 0 B P T
[81) ¢ /

SFBILL L LS estSetie gt

e
/l.a? ,Uf.fq,ﬁgé/JUﬁJ-‘L bgc u: J/(/) 8115(7!; u,/:u)l‘L dj}/“i LG{JU)J',Cl?r (7 dk
& 8Lyt L beosl 3= 95 Yok S s sl e 3 it 3 B (o 7= T0% 3 )

89

.:.w/f:*

//&}/}




ce F L& ne Q2% Tl Soen st S 2

Sources of Water éw’i dg

Uthe i o L6 AT here P 7 PS8 03 S By U
et Ut Uit 88 B9 £ 2 3L & 8-ty 2 e bz U Utk
e UL up/ &gﬂb el {7 e Uilg-< t‘ﬂJL’oluf&g Z i/d:} uﬂlc'_rclﬁfé Uil
T e e L QY Gdonr sl B e &t e QLK T e bt

— Ut

Loanlglis




SALL TS,

4@'«5/’//

S
St L S e sy pd S TS W U Lmluﬁ(oﬁw&g A E 3 ot e
e Qbn A PR (e SrS Qe et & Sfest iyl

. = 15
ez W i /’((.Jw[c—

J )é‘-/

Sz

BI P L5z IS G- o (unnel) 5 g
AL L S P A L
Lt Y Sl L s T s sty P Gl
01445}“;£3zg!/5 L& ;’:(dg I3z Llaf) o.b:.}salfta g
- a/ residue_ s Jf‘ Sl

£
U U U G = a B
el JTUY e b bnr S a7
sl S e s b S
e U"'{J/ dis Z_/Q Uil Alétﬁ%dzjg
W - SO e Bt FE s
/J’)/J’Vu’l J[}g-‘at‘u t‘/’i e
Ut “&/ Water Cycle & d7

91



Lo4) L 7

LG L Yy et
e Kufjﬁ;ziém‘ﬁ

Jt

PRI &L e UL 3L s cURZ e Jsae

S EUE st g 220 ol il £ L}L ) =
Uk u‘”’fJ&g S el $Tanr U6t o
Uz -t G S RIS QL -t U

\\|///—ch J)L

=== 5 et L L ot Dot e 1 o § Bz

ti st Sl bsg dﬁiuﬁdﬁd/u“’/wfﬁclﬁ'ufﬂ Kuhl Sl

—a e St oy A

b SAS U c blos SE VUL L Sl &5 ¢ 765 dl/u‘/ £ i/dL ZoslJ Ku’/L
b by bl st Lt el e S 6T T B ¥ ir B Ui 1 763 3T -
e b Cycle £

i

Lt JL G ukem Gz § b Frost JLul sin 2 s 7 2% <095 B U2t
SSueutQendw st el gL FEGSEEL Sr-ut GGt el g
iy :agm&g el Bl F Z st Soil ¢ —e b Jf e Lo~ “'J Weathering
B &’dgckc;lgf;[ézik L}{cé?c&j’g_w Zl e J’;:g - Jn J?“”/, o/,-f; s
r‘—L‘L/'..}J]J)'U’)'/.UU:/‘LWJJVL(}UJ{;lJ}"anLél}‘;/}’k/;gutgy‘t-u? & sok]
_‘afff.yg KV;’ﬁd/u);gﬁ‘LL“thfhumus

o Ll Yt uFE A S Soll Sciences -t 2 Gty S L oIS Borr it JrL B3

-----------------------------------------------------------------------------------------------------------------------------------------------------------------------------



Les) aL 7

& et SIS eSS
@ c‘-—ul»i:’é:gff Lééu;‘;/) & f——,i.ccwfjlef

A 4 el L ey yinl gL d b6 L
fur Lsnli AUES S o NV SO p R g
?u:i/]lg L)‘.’;J)’{_-}{f 03/ 00l I éf‘f:(
-~ J}é/z_//; "Lao‘l,,dﬁfu&/é— J&Lﬂ/
S T o = o A _Tor L f
_Q/%Julfulu:/&jwQK&J:’/:«ML"%"LI

el §

st A AL s st YiseeSloef oo S U St B B e lor U3 S
bt (bl 06 6 Uil 03 ) umus s U 1 S S50 et 01 21 2Bl e GF
—& 3’&; ;d/é Z 6"(,(/.:;!_‘4 b humus sii7| él]ﬁ u'u/é“}. L U2y U £ d/éjd//?:l-tg
Bedrock Sk~ & st ozt (1 Fen ol £ Usrg R PPN DAY A
e bt U n LU B e b bl U £ o

% L)ﬁ’ IS 7 d/ Uil
HEde TR ‘ by
EJ&AJQ - : JJILUL’AQ"‘/.G/U?‘/J
e
S —| 18
AUt S S rLﬁ'l d/ &'

(Wt pVBISG S

D E FE 2 F& O
ity
W L ftonl el dne el L 55
e | ok J &”J(ﬁw-+ ds u’/ér{c}%’é’g Gz Gt
e 121@1;«2/;1&g¢‘¢ Gkéguﬁ sl L e PUl JE 7
L ESE s H g F S




o
ﬁé’&fgﬁﬁé,/gyd’f Ll Fepels L fdé
Fre 1&£¢bw‘ wu/,yc_ga Sinf ol in
utyd’l;u‘uuﬂﬂiu’iwg}/w’u”‘;dbuV»L.,wéu“‘
_ugu:fufluiil// d/u»{ffﬁ;g)%wdcjfcuﬁd/g[].g{u;;{jufu@;

&”d’u(
LA i g e Ot s £ G580 o o U (sl €

/V""LH—J’J/&LiLﬁDfJ}’f“JJM—C—G)’M 3!
/b;dl)/u}luy U)LJ)/D)LJJ(_L(j[C?LJJL&)

- Gn/.?u e (L»’l S Ju’d-‘g G(v d& 5.4,/4‘:
ce Qe F o $ril L5t S §205 8 i 13

ﬁd/}/

U élgu’ S Uz JJ,,/Ku”z;.gu’l
et S G = ber Ut J/;»u g ("J G Soaleessl 6

Gfnelegt 3 S
‘gﬂé/) Ll WU/JMJ:LV{U"U’JUJKAIU)GJ’*
J/
Sk yot & #2

_‘aam}ty &uséy’w'_ym ; -aard::y 4VU;LP’ oty | -‘aam}‘:y LTINS/ 1 V
\ < — - + B > <
_éd, d,,gj,,rh,édﬂd{w, [ Gousf i\ $/ o [ 2

- 1 g }”; “/ :’“ 1454 ~
L% J/”‘E' =t _GL}(o/J /L}’uC? -\

-wénufé ﬂ/ u,l(nécalu' ;] Jyzf/ u.‘?é d/ln“uy‘uécalu' -Jﬁ'é Lf‘(g’.élﬂuy/)éal/} 3

| '4"&6{/ by i § &' | "Z-G'C S el -4 FIA G .| 4
[ el luFadn, | Llind Lty cdnded Ll 5
-‘Landbﬂ'f‘[

94



Similariies  _F 12
- Jn)}?y“ﬂ’(;d/m ugwé Sy &L(C//Z

Cry)
...... u S, .- .5>"._2) W
- Cor Ly, & sty 224 J]d/ U)lea 03/ 31 22y L/ﬁ Humus
’ ..LL“L«/J/U’U)ILU;A// d/u*uj Humus '
e QeI B
(67 7
LK
vy Usg sl e L L (’ ¥ 6«18 Disposable = iws Lo
JKJJ}
-J"/f/bfuﬁﬁgéu’lf/zauJ@JKJ}!&JKWIJK?L}{J
-jlf Sl il §L fﬁut;u:‘.' Urtf
oL Ly d LS dy
L ks A 10-120 Ui o
-u’/u" hd//leGQLbéu"Lbf‘/
o2
U e SQ Ll Gt U gt £ 241510
u/uté//;;,u & J~ Table J),w J}:}M
(O A Qyobcie i | B) L3S0y b6 & Lo Juf
C=A- (/ (A) J&
1.c8°
2,25
324
) :3'

_LG/C’Ldjjétﬂjﬁlu?d_/uwd_/éd‘u‘ u’lj/d/é_)é GL u‘/womu’&’v



S fardE S8

el ten il L m.frffuw Ju%/ﬂfmefﬁ/éw J&g 5’0’5
e FINF G nlid

a&‘("l

e O _w,/%(&g Ll wF gL u{:/u»g ®

e Tt By ot Byt Susldy

- P 8y dud 4L

e G §r M el St Ui-g Frbrd dpdifumes
Kol Bl BL Fe SL G5 n ):“‘uts,bu:%y Aes ) USSP 3B UE G
Ut %‘4’_/ Weathering /Jju‘?m_uj RN A

Ui U iz wrdition

e G L A Bt e FF 20 St

e 0 d s s g ST K ST

W PRGNt TSR Ao

-< by humus s/ 121 MilnLuird £ Und G S ple oo

@

@

@

- Ln;l’].l@ué ﬂ/:f;f“iéu»{f cfguj Ln:.?@.‘zz.?, Z Ui uﬁé’g};}
L Jnd(r_ u;}ggk 2L Us fi 2 ‘zlg JQ o Jl/f/,u’lé S e

e e ¢ e e o o

Tick (v') the correct options.
The outermost part of the Earth on which we live is;

a the mantle by the crust C the core d subsoil
It contains a large amount of dissolved salts;

a ground water b surface water C\/ oceans + sea water d  rain water
It has smooth and silky texture:

a Sandy b Clayey C\/Siltg d  None of them
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Ans:

Ans:

It is good for making pottery, bricks and toys:

a  Sandy soil bV’ Clayey soil ¢ Silty soil d All of them
On touching sandy soil it feels:
a Sticky b Gritty ¢  Smooth d\/ Rough

Answer the following questions.
Briefly explain water cycle with labeled diagram.
Water changes its states and continuously moves from the Earth to the high atmosphere

and from the atmosphere back to the Earth again. This continuous circulation of water
in nature is called water cycle.

Water vapour
from trees

Water vapour from
river and ocean

Clouds

Water from oceans, lakes, rivers and ponds evaporates due
to the heat of the Sun. The water vapour rises and mixes.
The water vapour condenses to form tiny droplets of water.
These droplets stick together to form clouds.

As more and more of these water droplets combine, the
clouds get heavier. When the clouds cannot hold their Cloud formation
heavy water droplets, they start to fall down to the ground as rain.

Differentiate between clayey soil and sandy soil.

Clayey Soil
Clay particles are very small. This soil is brownish. It is sticky and soft. It can hold a lot
of water. It is good for making pots and toys.
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Ans:

Ans:

Ans:

Ans:

Sandy Soil
The particles of sandy soil are big. The spaces between the particles are large enough for

air. This soil feels rough as it does not hold water. This type of soil is mostly found in the
desert or along the seashore or on river beds. Plants do not grow well in it.

List the layers of the Earth.

1. The Core
2. The Crust
3. The Mantle

How is water essential for life on Earth?

Water is essential for all living things and is one of the most important natural resource
on Earth.

Water is responsible for carrying out several life processes, such as digestion of food,
absorption of nutrients by the body, distribution of nutrients to various parts of the
body and getting rid of body wastes in human beings and animals. Water regulates our
body temperature and keeps us cool.

Plants require water for germination of seeds and growth. Water also helps to transport
nutrients from the soil and food from the leaves to different parts of the plants. Plants
require water to carry out the process of photosynthesis as well.

Water is used for generating electricity. Water forms the natural habitat of many
aquatic animals and plants.

What is meant by weathering?

Rocks break into smaller particles by the heavy rains, strong winds, frost and heat
of the Sun. This process is called weathering. Weathering is a slow process.

Why is silty soil suitable for farming and growth of crops?

Silt is between sand and clay. It consists of particles of medium size. It is smooth and fine
that holds water better than sand. Silt is mainly found near the rivers, lakes and other
water bodies. It is more fertile than other types of soil. Therefore, it is best for
agricultural purposes and farming.

State any two characteristics of silty soil.
1. It is between sand and clay.

2. It consists of particles of medium size.
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Visit a nearby garden or park.

Do you observe earthworms around in moist places.
Surely, you will see the earthworms burrowing the soil.
What are they doing?

They are decomposing the dead plants and animals.

Why are earthworms found in the soil called friends of farmers?

Because they help them in increasing the fertility of land. Topsoil provides a seabed for

the germination of seeds and the establishment of a rooting system for the crop. It supports
a complex community of beneficial microorganisms playing a vital role in the decomposition
of plants and recycling of nutrients.
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1. Tick (v') the correct options.
NASA stands for National Aeronautics and Space Administration .

a\/ National Aeronautics and Space Administration
b  National Astrology and Space Administration

¢ National Aeronautics and Space Allocation d  National Atlantic and Space Administration

The natural satellites are called moons

a stars b  meteors v’ moons d planets

USA launched its first satellite in ___1958
a 1955 b 1957 o 1958 d 1959

The first Artificial Satellite was launched by ___Russia
a China b USA © Japan d/ Russia

Weather satellites inform about cyclones, earthquakes and floods.

a Research b Communication v Weather d All of them
2. Answer the following questions.

Differentiate between space and atmosphere.

Ans: The Earth is surrounded by a blanket of air, called atmosphere. Beyond this
atmosphere, is space. There is no air or light in space. Space is dark.

What is the role of NASA in space technology?

Ans: NASA is an American Agency and it stands for National Aeronautics and Space
Administration. It was NASA with whose efforts man was able to step on the Moon.
NASA launched a space station called skylab on May 14, 1973. It kept on moving
around the Earth for about six months.

What is a satellite?
Ans: An object moving around a very big heavenly body due to its gravity is called a

satellite.
What do you know about GPS?

Ans: The Global Positioning System (GPS) is a space based Satellite navigation system that

provides location and time information in all weather conditions, on Earth.
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What are Artificial Satellites used for?

Ans: Research satellites are launched in space by the scientist to explore the Universe.
Weather Satellites help scientists to study the weather patterns and forecast the
weather. They can warn us of dangerous cyclones, earthquakes and floods.
Communication Satellites are used to send signals of internet, mobiles and television
programs across the globe. They also help in navigation of ships, aircrafts, and
spacecrafts. We can directly pick up the signals from these through antennas of dish.

What do you mean about Geostationary Satellites?

Ans: These are the Artificial Satellites that keep orbiting the Earth at the same speed as that
of the Earth. That is why they appear standing at a place in the Space. They carry

instruments that collect and send back valuable information about the Earth and its
environment.

What necessitated the scientists to explore the space?

Ans: The need for space exploration is due to following factors;
1) Exploration of the Earth resources.

2) Monitoring the weather conditions.

3) Long range radio and television transmission.
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1.

Ans:

Tick (v') the correct options.
While giving first aid, one should remain calm and act fast.

a under pressure b\/ calm C excited d all of these

The germs can easily enter into an open wound so care is required to prevent
from __infection

a vaccination b  disinfection v infection d all of these
A spirit level

is an instrument designed to see if a surface is levelled.

a model b  vernier calliper C\/spirit level d compass

In laboratories, avoid skin and eye contact with all __chemicals

a instruments bv” chemicals C  exposures d all of these

What should be called in case of earthquake and fire at school?

a FireBrigade  bv Rescue 1122 ¢ Ambulance d All of these

Answer the following questions.

Write three common safety rules at home.

Sharp objects like knives, cutters, broken glass, electrical sockets and playing in the

@ @ ¢ @ @ @

busy street are dangerous. Inside the home the floor should not be slippery to avoid

slipping. Do not play with fire while wearing nylon or polyester clothes.

State three safety measures taken in the lab.
Laboratory Safety Measurements
1 Avoid using any bottle having some powder or liquid, if it is without label.
2 Avoid skin or eye contact with any chemical.
3 Wear apron while working in a laboratory.
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Ans:

Ans:

Ans:

Ans:

What is meant by first aid?
The immediate medical help given to the affected person or patient before the doctor is
made available is called first aid.

How should you react during an earthquake?

Drop, cover, and hold on during your earthquake drill, as explained below:

® Drop down onto your hands and knees immediately.

* Cover your head and neck (and your entire body if possible) underneath a sturdy table
or desk.

* Hold on to your shelter (or to your head and neck) until the shaking stops.

o If possible rush to an open area.

Write the steps of dressing a wound.
Take a pair of sterilized gloves from the First Aid Box and put them on your hands.
Wash the wound with water.
Clean the dirt around the wound.
Clean the wound with cotton dipped in antiseptic lotion or spirit.
Apply antiseptic cream and bandage the wound with gauze.
A tourniquet can be used. It is a tight bandage tied over the wound to stop bleeding.
In case of deep cuts, remove the injured person to the doctor after giving first aid.
Cuts due to dirty and rusted objects may cause a dangerous disease called tetanus.
Hence, the injured person must be given an anti-tetanus injection by a doctor.

What is an LED?

LEDs are very small light emitting bulbs. Different
LEDs can be used to emit different colours.

What is the difference between spirit level and plumb line?

Spirit Level

|t is an instrument used for checking the horizontality of surfaces. Its frame is made of
plastic, wood or metal. It has a air bubble inside a glass tube having spirit (liquid). If
the bubble is at the center of glass tube, it shows that surface is accurately levelled. It
is used by plumbers, masons, carpenters and frame makers, etc.

Plumb Line

A plumb line is a conical weight, called bob, suspended from a string used as a vertical
reference line to ensure that a structure is vertical or not. It is used by masons to check
the verticality of a wall, during construction.
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